IN-0004512



Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

01/31/2022 09:00 AM | Travel to Las Vegas 02/01/2022 09:00 AM | Install Day 1 02/02/2022 09:00 AM | Install Day 2 02/03/2022 09:00 AM | Install Day 3 02/04/2022 09:00 AM | Install Day 4 02/05/2022 09:00 AM | Install Day 5 02/05/2022 06:00 PM | Event

PO:

Shipping Address:

02/06/2022 08:00 AM | Strike Day 1 02/07/2022 08:00 AM | Strike Day 2 02/08/2022 08:00 AM | Travel to LA

Description		Qtty	Price		Total
Additions as o	of Feb 2				
	Madrid Barback - Gold	2	\$250.00	Т	\$500.00
		Total A	additions as of Fe	b 2	\$500.00
Additional De	tails				
	Truss Covers - TBD approx guesstimate Ivory for cocktails and reception black for after party with VELCRO	1	\$24,000.00	Т	\$24,000.00
	Custom Store Fronts - TBD after party	2	\$7,500.00	Т	\$15,000.00
		Tot	al Additional Det	ails	\$39,000.00
Cocktails					
	Ceiling Fabric - Partial Ceiling Fabric Cranberry (7) 48'L x 100"W pleated swagging panels that stretch across Cocktails	1	\$18,000.00	Т	\$18,000.00
	Perimeter Drape - Cranberry Velvet (Instock) 108' x 48' x 16'H dimensions	1	\$10,500.00	Т	\$10,500.00
	Perimeter Valance - Cranberry Dupioni	1	\$2,750.00	Т	\$2,750.00
	Vegas Themed Neon Signage Subrentals from neoon company; tbd on placement	1	\$950.00	Т	\$950.00
	Oversized 'Welcome to Las Vegas' Neon Sign	1	\$2,150.00	Т	\$2,150.00
	Entrance into Reception - Swag Draping for a 16'W x 10'D tunnel into cocktails	1	\$8,500.00	T	\$8,500.00
	Wood Moulding Panels 36"W x 10'H used in groupings of 12'W satin charcoal grey paint	32	\$650.00	Т	\$20,800.00

Description		Qtty	Price		Total
	Custom Molding Panel Extension 72"W x 36"H matte charcoal grey paint to add height to existing panels	32	\$500.00	Т	\$16,000.00
	Custom Regular Mirror Inserts for the (3) molding areas in each paneling piece **only to be used in half of the panels placed around the room**	19	\$500.00	Т	\$9,500.00
A STATE OF THE STA	Tiffany Molding Panels 48"W x 10'H placed behind the stage matte charcoal grey paint	5	\$850.00	Т	\$4,250.00
	Custom Molding Panel Extension 10'W x 36"H matte charcoal grey paint to add height to existing panels	4	\$750.00	T	\$3,000.00
ı)	Sconces - Buenos Aires Gold & White	16	\$175.00	Т	\$2,800.00
	New Sconce - Buenos Aires Gold & White	2	\$350.00	Т	\$700.00
	Chandelier - Brussels Palm Tree 33"D x 30"H - 24lb - 150 Watts	8	\$500.00	T	\$4,000.00
	Chandelier - Deco Crystal Drops 28"D x 27"H	4	\$750.00	Т	\$3,000.00
	New York Sofa 8'L Cover- Burgundy Chenille	4	\$650.00	Т	\$2,600.00
	New York Sofa Straight Sectionals (2pcs) Burgundy Chenille Cover Left Arm Sectional & Right Arm Sectional	2	\$1,300.00	T	\$2,600.00
	Beverly Hills Round Coffee Table - Faux Marble	8	\$275.00	Т	\$2,200.00
	London Cranleigh Club Chair	8	\$250.00	T	\$2,000.00
	Manchester Wing Back Club Chair for lounge grouping	2	\$275.00	T	\$550.00
	Manchester Exposure Club Chair for lounge grouping	6	\$275.00	T	\$1,650.00
	Ottoman w. Backrest	12	\$150.00	T	\$1,800.00

Description		Qtty	Price		Total
	Paris Bistro Table - Marble Top 24"D for low cocktail Seating	3	\$225.00	Т	\$675.00
	Ottoman Pod 18"D all burgundy	32	\$90.00	Т	\$2,880.00
	Accent Pillows mix of burgundy and charcoal and leather	45	\$40.00	T	\$1,800.00
	London Accent Table - Antique Gold Hourglass Large	4	\$120.00	Т	\$480.00
	Cylinder Accent Table - Round Mirror Large	4	\$120.00	Т	\$480.00
	New York Bar 8'L Bar - New York - Folding 8' - Burgundy Channeled Velvet burgundy frame with channeled burgundy fronts	3	\$950.00	T	\$2,850.00
	Wood Molding Barback Piece 96"W x 20"D x 12'H to create the feel of a built in bar	2	\$2,400.00	Т	\$4,800.00
	NEW Wood Molding Barback Piece	1	\$5,250.00	Т	\$5,250.00
	Ibiza Stand Up Table - Black Marble & Brass 36" x 36"	6	\$275.00	Т	\$1,650.00
A	London Barstool - Leather placed at casino games	16	\$24.00	Т	\$384.00
			Total Cockta	ails	\$141,549.00
Reception					
	Ceiling Fabric - Partial Ceiling Fabric Burgundy (22) panels at 100"W pleated	1	\$36,000.00	Т	\$36,000.00
	Central Ceiling Panel 36' x 24' - Burgundy pleated flat ceiling **need trussing for skeleton**	1	\$8,500.00	Т	\$8,500.00
	Perimeter Drape - Burgundy Velvet (Instock) 108' x 73' x 16'H dimensions	1	\$16,500.00	Т	\$16,500.00
	Perimeter Valance - Burgundy Dupioni 24"H x 108' x 73'	1	\$3,600.00	Т	\$3,600.00
	NEW Tufted Panel - Burgundy Velvet 4'W x 12'H to be used with panel extension	20	\$2,400.00	Т	\$48,000.00

Description		Qtty	Price		Total
	Custom Panel Extension 10'W x 48"H burgundy with simple gold molding detail to add height to existing panels	8	\$1,125.00	Т	\$9,000.00
	Stage Backdrop - Inspired by Invitation Design for a 40'W x 10'H stage backdrop Layered for Images to add lighting within the backdrop	1	\$27,500.00	Т	\$27,500.00
	Added Swag Drapery to Stage Backdrop	1	\$5,500.00	Т	\$5,500.00
	Stage Front - Straight Finish black fabric (speakers underneath stage) 40'W x 36"H	1	\$3,500.00	T	\$3,500.00
	Dance Floor - Black 32' x 24'	1	\$6,000.00	Т	\$6,000.00
	Dance Floor Decal - Gold Fan Artwork	1	\$7,150.00	Т	\$7,150.00
	Oversized Layered Fringe Chandelier - Antique Gold Fringe 10'W x 20'L x 8'H with touches of crystals and edison light bulb drops throughout	1	\$8,750.00	Т	\$8,750.00
Altri Communicaj pri Transform in Transfor ARA	Nice Pendant Chandelier - Brass & Crystal 40"w x 65"H - 150lb - 1050 Watts	5	\$1,100.00	Т	\$5,500.00
	Moscow Round Brass Chandelier - Medium 36"W x 60"H - 50lb - 1Amp	10	\$750.00	Т	\$7,500.00
	Channeled Round Booth - Champagne Velvet (2pc)	8	\$650.00	T	\$5,200.00
	Accent Pillows - Champagne (8) Kidney (16) 20" x 20"	24	\$40.00	T	\$960.00
	Chandelier Hook 12'H to hang a chandelier over each booth	8	\$350.00	Т	\$2,800.00
	NEW Chandelier - Design TBD waiting for design approval from MWPC Price approx until confirmed	8	\$900.00	Т	\$7,200.00
	132" Round Custom OverLay - Clover Beige cost is approximated and not guaranteed until material is chosen	8	\$650.00	Т	\$5,200.00
	144" Round Custom Underlay - Dupioni	1	\$350.00	Т	\$350.00
	144" Round Custom Overlay - Clover Beige	1	\$850.00	Т	\$850.00
	Drapery Swags for behind Bars	2	\$5,500.00	Т	\$11,000.00
	New York Bar 8'L burgundy frame with burgundy tufted fronts	4	\$1,550.00	Т	\$6,200.00

Description		Qtty	Price		Total
	Moscow Barback - Gold	8	\$275.00	Т	\$2,200.00
			Total Recepti	on	\$234,960.00
After Party					
	Ceiling Fabric - Partial Ceiling Black Fabric 78' x 100"W (7) panels pleated fabric	1	\$12,750.00	Т	\$12,750.00
	Perimeter Drape - Black Velvet (Instock) Approx 78' x 112' x 16'H additional pullbacks to drape over candle walls	1	\$18,500.00	Т	\$18,500.00
	Perimeter Valance - Black Dupioni 78" x 112" x 14"H	1	\$2,750.00	Т	\$2,750.00
	Miami Sputnik Chandelier - Gold Large	5	\$450.00	Т	\$2,250.00
	Miami Sputnik Chandelier - Gold Small	14	\$350.00	T	\$4,900.00
	Candle Wall Panel - Gold Frame 5' x 10' x 4"; with battery operated candles	8	\$1,050.00	T	\$8,400.00
	Fabric Stage Front 70' x 36"H	1	\$4,500.00	Т	\$4,500.00
	Dance Floor - Black with Decal 32' x 40'	1	\$10,500.00	Т	\$10,500.00
	Berlin Serpentine Sofa (3 Piece Set)	4	\$1,350.00	Т	\$5,400.00
	Custom Cover for Serpentine Sofa - Leopard Print	4	\$1,350.00	Т	\$5,400.00
	Curvy Coffee Tables - Black Mirror Top & Gold	4	\$250.00	Т	\$1,000.00
	Curvy Accent Table - Black Mirror Top & Gold	4	\$100.00	Т	\$400.00
	Monaco Accent Table - Black Glass & Brass	4	\$125.00	T	\$500.00
	Oslo Accent Table - Round	4	\$100.00	T	\$400.00

7	Simple Round Accent Table	4			
		4	\$100.00	Т	\$400.00
	Frankfurt Accent Table - Smokey Glass & Brass	4	\$125.00	Т	\$500.00
	NEW Channeled Top Hat - Black Velvet 10'D	1	\$6,500.00	Т	\$6,500.00
	Hollywood Accent Table - Glass Top & Zig Zag Frame	4	\$125.00	Т	\$500.00
	Ottoman Pod 18"D All in Leopard print	48	\$90.00	Т	\$4,320.00
	Accent Pillows mix of black, black with gold details, and leopard print	56	\$40.00	Т	\$2,240.00
H	Tokyo Accent Chair - Gold Frame black velvet cushion	15	\$85.00	Т	\$1,275.00
AT .	Tokyo Accent Chair - Gold Frame black velvet cushion	1	\$85.00	Т	\$85.00
	Monaco Bistro Table - Brass Black Smoky Glass	4	\$275.00	Т	\$1,100.00
100 mm	Nice Communal Table - Mirror Top	2	\$250.00	Т	\$500.00
	Floor Lamp - Monaco - Black with Custom Leopard print Shade	2	\$300.00	Т	\$600.00
	New York Bar 6'L black frame with leopard print channeled front and sides	4	\$1,250.00	Т	\$5,000.00
	Straight Barback 8'L - Gold	1	\$250.00	Т	\$250.00
	Madrid Barbank - Gold	4	\$225.00	Т	\$900.00

Description		Qtty	Price		Total
	Dj Booth - New York Black frame with channeled Leopard print front and sides with LED lights	1	\$750.00	Т	\$750.00
	Monaco Stand Up Table - Black Glass	6	\$200.00	Т	\$1,200.00
			Total After Pa	arty	\$103,770.00
Services					
	Installers: Drive to Las Vegas	10	\$450.00		\$4,500.00
	Installers: Install on 1st, Tuesday	10	\$650.00		\$6,500.00
	Installers: Install on 2nd, Wednesday	10	\$650.00		\$6,500.00
	Installers: Install on 3rd, Thursday	10	\$650.00		\$6,500.00
	Installers: Install on 4th Friday	10	\$650.00		\$6,500.00
	Installers: Install on 5th Saturday	10	\$650.00		\$6,500.00
	Installers: Stand Bys on 5th Saturday	4	\$350.00		\$1,400.00
	Installers: Strike on 6th Sunday	10	\$650.00		\$6,500.00
	Installers: Strike on 7th Monday	10	\$650.00		\$6,500.00
	Installers: Drive to Los Angeles	10	\$450.00		\$4,500.00
	Accommodations: Crew Perdiem for (9) Days	10	\$621.00		\$6,210.00
	Trucking: Semi 53'L round trip; price approx	4	\$6,500.00		\$26,000.00
	Trucking: 24'L Box Truck round trip; price approx	2	\$2,800.00	Т	\$5,600.00
	Trucking: Rental Car weekly rental; price approx	3	\$1,250.00	Т	\$3,750.00
	Manager: Travel Flight	1	\$2,500.00		\$2,500.00
	Manager: Onsite for (9) days	1	\$6,750.00		\$6,750.00
	Manager: Perdiem for (9) days	1	\$621.00		\$621.00
	Production: Rush Fees TBD This is a guesstimate until after all items have been confirmed and produced for event. Will finalize after event has concluded	1	\$5,500.00		\$5,500.00
	Prop Building: Design & Labor	1	\$7,500.00		\$7,500.00
	Subrental: Neon Rentals	1	\$850.00		\$850.00
	Custom Artwork: Sandra Details	1	\$2,400.00		\$2,400.00
	Certification: Flame Proofing Fabric	1	\$5,000.00		\$5,000.00
	Certificates: Flame Proofing Materials	1	\$3,500.00		\$3,500.00

Description	Qtty	Price	Total
Pre-Production: Design, Layouts & Meetings	1	\$10,000.00	\$10,000.00
Supplies: Misc packing materials, paint, etc	1	\$5,000.00	\$5,000.00
Subrental: Deliveries & Labor cost estimated	1	\$2,800.00	\$2,800.00
Dance Floor: Delivery & Labor cost estimated	1	\$3,600.00	\$3,600.00
Dance Floor: Trucking cost estimated	1	\$1,550.00	\$1,550.00
Please make checks payable to Revelry, Inc.		Total Products:	\$519,779.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		bor/Services/Misc: axes (tax excempt):	\$155,031.00
Notes		Discounts: Total:	(\$0.00) \$674,810.00
		Payments:	(\$674,810.00)
		Balance:	\$0.00